MATHS- ADDITION AND SUBTRACTION

+ @ YEAR 6

RECAP

¢ Add and subtruct numhers more than 4 digits using the formal written methods of column
 Estimate and use inverse operations to check answers to- a calculation.

 Solve addition and subtraction multi-step problems in contexts.

CRUCIAL KNOWLEDGE s o o s e

e Add and subtract numhers mentally with increasing large numbhers. 35 742
e Add and subtract whole numhers with more than 4 digits including 34176
using formal written methods (column addition and subtraction) 32266

e Use rounding to check answers to calculations and determine, in the St wih the anclit ploce
context of the problem, levels of accuracy. adlor romonde i resded

 Inverse operutions and missing numhbers. 415864

e Solve addition and, subtraction multi-step problems. in contexts, 23497"
deciding which operations and methods. to use and, why. 6936 |

Inverse Operations
This can mean the opposite] reversing.
The inverse of addition s subtraction. 3 409 3 4 9 |E|
. . The inverse of subtraction is addition. I:I
° 17,422 + 5 = 17,427 17,427 - 5 = 17,422 - 8 5 N 7
Use inverse operations to solve a range of problems. . 8|75
* Reasoning problems where there is more than one possible answer. 2 615 2615

z Addition it & 5] Column Method [ Approximute s E_f_flClent i 8 5]
The column method can be an efficient method for Not completely accurate, but close enough to be used. Working in a way without wasting time.
The mathematical operation to find the sum of two or more numbers. addition and subtraction calculations.
% 18,000 + 400 =
5,358 + 600 = 5,358 5,958 = 5,358 + 600 + 4124 The numbers are written beneath each other. — %724
d 2341 2041 An efficient way of adding would be to using place value
: 6465 2083 resrtesiekned knowledge, rather than column addition.
) — ]
m . Subtraction e Place Holder e Key Vocabulary Exchange s
) R ) I .
< The mathamatial operaon in hich the dffrence becwsen Zero s usd . lace okt e car uewhrs e wrin These camportant words to help 3}°::§::§tzl‘{"t’:\;‘zb:::‘fm“ wd Changing one thing for another but keeping the same value.
found. correctly. what numbers you have to calculate. I can exchange 10 hundreds for 1 thousand.
» -~ et
u Subtraction is reducing one number by another. The number 2,104 contains O tens. We still need to put O to hold PR " . 7 ®
the tens place, otherwise the number would look like 214. The number 82 train can hold 3,233 passengers. =
21,345 - 345 = 21,000 21,000 = 21,345 - 345 There are 435 seats available.
How many passengers are on the train?

> ) e

Equal ] Estimate Sum [

-_— qua S N
- . . , Multistep Problems — Fe=s==
» = | Equals means the same amount Finding a value (number) that is close to the right answer. The total after adding 2 or more numbers.
A reasonable guess. A calculation can also be involved.
The symbol shows that two expressions or two values In multi-step word problems, there may be two or more
are equal. operations, and you must solve them in the correct order to get a The sum of 245 and 14,000 is 14,245.
quat - correct answer.
——
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Sentence Stems — .
, Bar models Order of operations
10 x =10 x6 =60 It can’t be... because...

Using bar models to compare addition : : : :
. N .. Calculations must be carried out in a certain order to get to the
Order 5+22=54+4=9 l nOtlced that- LL calculations can help to find the missing correct answer. These two diagrams are helpful when remembering

number. that order.
It must be ... because... 667 + 253 = 467 D
Divisi 10+6+2=10+3=13 + = + ‘
fuiston If...then... brackets », ﬁ:’:id(et532()
Multiplication [10-4x2=10-8=2 This is different because... | 667 | 253 | Divi::,, -
i W0w4+7-40+7-47 | This is the same because... [ 467 [ a3 | Multiplication x

Subtraction 10+2-3=5-3=2 Thls Is true here because"' The first part is 200 less, so the second Addition +
| already know that... so... part must be 200 more. Subtraction -
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